@ KidsDigitaal

n Oefen de tafels. Wat is het antwoord op de som?

2x6=.......
............. x2=18
............. x2=12
2 X =16
2 X =18
2 X, =14
2 X, =4
2 X, =12
2x10=.............
............. x2=10

2 X =8
2 X, =16
............. x2=2
2 X =4
............. x2=12
............. x2=16
2 X, =12
............. x2=6
2x10=.............
2x6=.......

Tafel van 2

Alles door elkaar.

2 X, =8
2x1=......
............. x2=4
............. x2=10
............. x2=16
............. x2=20
............. x2=14
2x6=.......
............. x2=6
2 X, =4
............. x2=8
............. x2=12
2 X, =14
............. x2=16
2x9= ...
............. x2=20
2x8= ...
2x1=......
............. x2=2
2x2= ...
............. x2=16
2x4= ...
2 X, =8
2 X, =4
2 X, =6
............. x2=14
............. x2=12
2 X, =14
2 X, =18
2x6=.......

2x1=.....
2x7 = ...
2x10=.............
............. x2=8
2 X =8
2 X =12
2x5= ...
2x4=......
............. x2=14
............. x2=6
2x4=_......
2x8= ...
2 X =12
............. x2=16
2 X =6
2x10=..........
2x1=......
............. x2=14
2 X =14
2 X =10
2 X =8
............. x2=20
2 X =20
............. x2=12
............. x2=14
............. x2=16
2x1=.....
2x9= ...
............. x2=8
2x2= ...
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@ KidsDigitaal

n Oefen de tafels. Wat is het antwoord op de som?

2 X, =14
2 X, =6
2x8= ...
2 X =4
2 X =20
............. x2=12
............. x2=4
2x9= ...
2x3= ...
2 X =10

2x3= ...
............. x2=10
2x7= ...
............. x2=6
2x2= ...
2 X, =20
2 X, =6
2 X, =18
2 X, =10
2 X =8

2x5= ...

............. x2=14
2 X, =10
2 X =8
............. x2=4

2 X, =4
2 X, =2
2 X, =16
............. x2=20
............. x2=10

2 X, =16
............. x2=4

2 X =6
2 X =10
2x4=_.....

............. x2=14
2 X =14
............. x2=20
............. x2=6

2 X, =12

............. x2=14
2x7 = ...
2 X =18
............. x2=8
2x8= ...
2x1=......
2x3= ..
............. x2=18
2 X, =6
2 X =2

2x9= ...

2 X =10
2 X =12
............. x2=10
............. x2=4

............. x2=20
2x6= ...

............. x2=16
............. x2=18
2x10=..........

Tafel van 2

Alles door elkaar.
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@ KidsDigitaal
Tafel van 2

Alles door elkaar.

Oefen de tafels. Wat is het antwoord op de som?

2 X, =14 2 X, =8 x2=14
2 X, =18 . x2=4 2x6=.......
2x3= ... 2X5= s x2=10
2x8= ... 2X8= s x2=6
............. x2=18 . X2 =8 e X2 =12
2 X, =16 2x7 = ... 2 X, =16
2 X, =20 2 X, =16 2x5= ...
............. x2=4 2x9= ... 2x9= ...
2x1= . x2=2 2x2= ...
2 X =2 x2=14 ... x2=16

2X2= s x2=8 2 X, =8
2 X, =20 x2=4 2x8= ...
2 X, =6 2 X =10 x2=10
............. x2=8 2x2= ... 2 X . =12
2 X, =10 2 X, =12 2x4= ...
............. x2=16 2 %X . =20 v X2 =6
2 X, =12 2 X, =18 2 X, =20
2x7= ... 2 X =4 2 X, =10
............. x2=14 e, X 2=18 e X2 =14
............. x2=18 2 X . =14 2x7 = ...

............. x2=6 v X 2=10 2x7= ...

............. x2=20 2x6= ... v X2 =18
............. x2=14 2 X . =12 2 X . =14
............. x2=10 2x8= ... 2 X . =20
2x3= ... 2 X =16 . x2=8

2x8= ... 2x4=_..... 2 X, =18
2x1=_..... 2xT7 = ... 2x10= ...
............. x2=12 e X2 =4 2 X ... =16
............. x2=2 e X 2=16 e X2 =12
2 X =4 x2=12 . x2=4
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@ KidsDigitaal
Tafel van 2

Alles door elkaar.

m Oefen de tafels. Wat is het antwoord op de som?

2x8= ... 2 X =14 2 X, =4
2x2= ... 2 X =16 2 X, =8
2x10=............. 2 X =20 2x4= ...
2 X =16 . x2=8 2x1=......
2X3= s x2=18 2x2= ...
............. x2=16 2x6= ... e X2 =20
............. x2=14 2x7 = ... 2x10=.............
............. x2=10 2 X . =2 e X2 =16
2x4= ... 2 X =12 x2=18
2x1= . x2=10 ... x2=6

2X5= s X2=6 e x2=6
2x8= ... 2 X =6 2 X, =12
2 X, =20 2 X, =4 2x4= ...
2 X =14 2X8= s x2=8
2x1=_..... 2x5= ... 2x1=......
2x10= ... x2=14 2x6=.......
............. x2=8 2x4=_..... 2 X ... =18
2x4= ... 2x1=...... 2x3= ...
2 X, =10 2X6= s e x2=10
2x3= ... 2x10=........... 2x10=............

............. x2=18 e, X 2=18 2 X .. =20
............. x2=12 2x10=........... e X2 =18
2x8= ... 2x5= ... 2x8= ...
............. x2=14 2 %X . =10 2 X . =12
2 X, =12 2 X, =12 2 X, =2
2 X, =16 . x2=8 x2=6
2x10=.... x2=14 2x4=_.....
2 X, =20 2 X, =6 2 X, =6
............. x2=20 2x1=...... 2 X ... =18
2 X =10 2x8= ... 2 X, =8

2 X =12
............. x2=18
............. x2=8
2x9= ...
............. x2=2
2x3= ...
2 X, =2
............. x2=10
2x10=..........
2x5= ...
............. x2=10
2x3= .
2x9= ...
............. x2=4
2 X =4
2 X =20
2x10=............
2 X, =8
2 X =10
2x5= ...
2x56= ...
2 X =4
2x4=.....
2 X =14
2x3= ...
2x7 = ...
2 X =18
2 X =10
............. x2=20
2 X =12
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@ KidsDigitaal
Tafel van 2

Alles door elkaar.

m Oefen de tafels. Wat is het antwoord op de som?

2 X, =8 2 X =8 2 X, =4 x2=2
............. x2=10 . X2 =6 2x9= ... 2 X . =14
2 X, =16 2x4=_..... 2X6= s x2=4
2x1=_..... 2x8= ... 2X5= s x2=20
2x10=............ 2 X =6 2 X, =16 2 X =6
2 X, =20 x2=16 ... x2=16 ... x2=10
2x2= ... 2x9= . x2=6 2x9= ...
............. x2=12 2x6= ... e X2=10 2 X . =2
............. x2=18 2x10=.......... e X2 =14 2x1=......
............. x2=16 2 %X .......= 18 2x10=............ e, X 2212
m Oefen de tafels. Wat is het antwoord op de som?
2X3= s x2=16 2 X, =10 2x9= ...
2x6=....... 2x9= ... 2 X, =8 2x1=......
2 X, =18 . x2=14 2x5= ... 2 X =2
2 X =12 2 X, =14 x2=14 ... x2=20
2x5= ... 2xX4= . x2=12 2x2= ...
2 X, =16 2 X, =10 2x4= ... 2 X =14
............. x2=4 e X 2=12 e X2 =20 2 X . =4
............. x2=16 2x5= ... 2x10=............. v X2 =6
2x10=............. 2 X =4 2 X, =16 2x3= ...
............. x2=20 2x10=.......... v X2 =6 2 X . =12
E Oefen de tafels. Wat is het antwoord op de som?
............. x2=20 2 X ... =16 e X2 =18 2 X . =2
2 X, =4 2 X =6 2 X, =14 2 X =10
2x9= ... 2x1= s x2=8 2 X =8
............. x2=16 2 X . =8 2 X.eee... =6 2x2= ..
2 X, =6 2 X =4 2x3= ... 2 X =12
............. x2=12 2x9= ... 2x6=....... e, X 2=18
2X6= s x2=2 2 X, =4 x2=16
............. x2=2 e X2 =8 2x4= ... 2 X . =4
2 X, =14 2 X, =20 x2=20 2x9= ...
2x5= ... 2xT7 = ... 2 X, =2 2x4=_.....
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